

City of Tulsa Purchasing Department 175 E. 2nd Street 15th Floor Tulsa, OK 74103 TAC 450 E Concrete Pipe Streets & Stormwater Department Bid Date: January 9, 2020 Buyer: Donny Tiemann
dtiemann@cityoftulsa.org
Please contact if you have any questions

1. Delivery:

If your Bid is accepted and a contract is executed, state the number of days you need to deliver the Goods and/or to begin providing Services:

You must be able to deliver the Goods and/or Services as specified in your Bid. Failure to do so may result in City terminating your contract or canceling the Purchase Order, pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity.

2. Pricing

(ESTIMATED QUANTITIES FOR EVALUATION PURPOSES ONLY)

GNC CONCRETE PRODUCTS, INC.

Section 1: Reinforced Concrete Pipe, Class III

Item	Description	QTY in ft.	Unit Cost Per Foot	Extended Cost
1	12 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	120	No Bid	
2	15 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 foot Joint Length with Omni-Flex Gasket.	400	\$14.79	\$5,916.00
3	18 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	160	\$15.90	\$2,544.00
	21 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	80	\$18.28	\$1,462.40
	24 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	160	\$21.17	\$3,387.20
	27 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	32	No Bid	
	30 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket	30	\$31.88	\$956.40
×	36 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	30	\$40.21	\$1,206.30
	42 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	32	\$52.62	\$1,683.84
10	48 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	32	\$63.16	\$2,021.12
	54 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	32	\$71.83	\$2,298.56
	60 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket.	32	\$91.80	\$2,937.60
	66 – Inch Diameter Reinforced Concrete Pipe, Class III, and 8- Foot Joint Length with Omni-Flex Gasket.	32	No Bid	
14	72 – Inch Diameter Reinforced Concrete Pipe, Class III, and 6 to 8 Foot Joint Length with Omni-Flex Gasket	30	No Bid	
Exte	nded Cost for Section 1			\$24,413.42

Section 2: Reinforced Concrete Pipe, Class III - Pre-Cast End Sections

Item	Description	QTY	Unit Cost Per Foot	Extended Cost
1	12 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Flared End Section with Omni-Flex Gasket.	12	No Bid	

10	48 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Flared End Section with Omni-Flex Gasket. 54 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot 2.5 Inch Flared End Section with Omni-Flex Gasket. 60 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot 2.5 Inch Flared End Section with Omni-Flex Gasket.	16 16	\$1,682.00 No Bid	\$26,912.00
	Section with Omni-Flex Gasket. 54 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot 2.5 Inch			\$26,912.00
9		16	\$1,682.00	\$26,912.00
8				
7	42 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Flared End Section with Omni-Flex Gasket.	16	\$1,434.00	\$22,944.00
6	36 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Flared End Section with Omni-Flex Gasket.	16	\$1,023.00	\$16,368.00
5	30 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Flared End Section with Omni-Flex Gasket.	12	\$681.00	\$8,172.00
4	24 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Flared End Section with Omni-Flex Gasket.	12	\$537.00	\$6,444.00
3	18 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Flared End Section with Omni-Flex Gasket.	12	\$450.00	\$5,400.00
2	15 – Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Flared End Section with Omni-Flex Gasket	12	\$360.00	\$4,320.00

Section 3: Reinforced Concrete Pipe, Class III - Horizontal Elliptical Pipe

Item	Description	QTY	Unit Cost Per Foot	Extended Cost
1	14 Inch by 23 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket	48	No Bid	
2	19 Inch by 30 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	80	No Bid	
3	24 Inch by 38 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	32	No Bid	
4	29 Inch by 45 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	32	No Bid	
5	32 Inch by 49 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
6	34 Inch by 53 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
7	38 Inch by 60 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
8	43 Inch by 68 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
9	48 Inch by 76 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
Exte	nded Cost for Section 3			No Bid

Section 4: Reinforced Concrete Pipe, Class III-Horizontal Elliptical Pipe, Pre-Cast End Sections

Item	Description	QTY	Unit Cost Per Foot	Extended Cost
1	14 Inch by 23 Inch Diameter, Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	12	No Bid	
2	19 Inch by 30 Inch Diameter, Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	12	No Bid	
3	24 Inch by 38 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	12	No Bid	
4	29 Inch by 45 Inch Diameter, Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
5	32 Inch by 49 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
6	34 Inch by 53 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
7	38 Inch by 60 Inch Diameter Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	
8	43 Inch by 68 Inch Diameter, Reinforced Concrete Pipe, Class III, 6 to 8 Foot Joint Length with Omni-Flex Gasket.	16	No Bid	

Section 5: Reinforced Concrete Box

Item	Description	QTY	Unit Cost Per Foot	Extended Cost
- 1	4-Foot by 3-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	12	\$140.00	\$13,440.00
	4-Foot by 4-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	12	\$150.00	\$14,400.00
	5-Foot by 3-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	12	\$163.00	\$15,648.00
	5-Foot by 4-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	12	\$173.00	\$16,608.00
	5-Foot by 5-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	12	\$184.00	\$17,664.00
	6-Foot by 3-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	12	\$199.00	\$19,104.00
	6-Foot by 4-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket	6	\$222.00	\$10,656.00
	6-Foot by 5-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$230.00	\$11,040.00
	6-Foot by 6-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$242.00	\$11,616.00
	7-Foot by 3-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$256.00	\$12,288.00
	7-Foot by 4-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$265.00	\$12,720.00
	7-Foot by 5-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$294.00	\$14,112.00
	7-Foot by 6-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$315.00	\$15,120.00
	7-Foot by 7-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$330.00	\$15,840.00
	8-Foot by 3-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$296.00	\$14,208.00
	8-Foot by 4-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$320.00	\$15,360.00
	8-Foot by 5-Foot Square Reinforced Concrete Box,6 to 8-Foot Joint Length with Omni-Flex Gasket	6	\$330.00	\$15,840.00
	8-Foot by 6-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$341.00	\$16,368.00
	8-Foot by 7-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$353.00	\$16,944.00
	8-Foot by 8-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$376.00	\$18,048.00
	9-Foot by 4-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$348.00	\$16,704.00
	9-Foot by 5-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$376.00	\$18,048.00
	9-Foot by 6-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$394.00	\$18,912.00
	9-Foot by 7-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$418.00	\$20,064.00
25	9-Foot by 8-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$438.00	\$21,024.00
	9-Foot by 9-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$464.00	\$22,272.00
	10-Foot by 4-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$407.00	\$19,536.00
	10-Foot by 5-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$438.00	\$21,024.00

Tota	Total Extended Cost for Sections 1 – 5		\$637,549.42	
Extended Cost for Section 5			\$522,576.00	
31	10-Foot by 8-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$485.00	\$23,280.00
30	10-Foot by 7-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$472.00	\$22,656.00
	10-Foot by 6-Foot Square Reinforced Concrete Box, 6 to 8-Foot Joint Length with Omni-Flex Gasket.	6	\$459.00	\$22,032.00